oo = == == ==[1[]

goooooooggggiestdddiioooooaddaac
000

goo:

OO0 : 2018/12/22 11:32:23

0000000D00001070120200000 00 010700350 0000
000000O000000000
(0)0D0OD0O108010190 (00 0)0 10200 (0 0 0)O
(0)00DOOO0OD0O000@O0O000000o0OOsed)d
(0)DDOOO0O000010801090(000)0
(0)0DDO0OOOD0D0000028000

goodboobo0oooOoboUoogoooboboooDOoboooOOobUooboOooDoboOo@HYbooo

O0o0oooooooooooo
goododoboooboodooooooooon

O http://www._tyc.edu.tw/home. jsp?id=6&parentpath=0,50 0 0 O
0000000000000 00000000 0O DO 0O03-34643040

http://163.30.202.2

2024/5/12 10:23:38 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

